Appendix 29

Meadowbank 2019 Hazardous Manifest

MOVEMENT DOCUMENT / MANIFEST

DOCUMENT DE MOUVEMENT / MANIFESTE
This Movement document/manifest conforms to all federal
and provinciale transport and envircomentall eligistation.
Ce document de mouvement/manifeste est conforme aux législations
fédérale et provinciale sur l'environnement et le transport.

Movement Document / Manifest Reference No. N° de référence du document de mouvement/manifeste

HL61042-8

5	88				letsod ep			. D P.M.	ncial ID No.	Pack. Véh.	>			8	primerie)	1961	44003)
RQ19-103-3	Registration No. / Provincial ID No. N° d'immatriculation - d'id. provincial	mation same as in Parl A sceptionnaire / destinataire est la même qu'à la Partie A No, complete the box below / Non, rempir la case ci-dessous			Postal code / Code postal	Tel. No. / N° de tél.		Time / Heure	Registration No./Provincial ID No. N° d'immatriculation/d'id provincial	Shipment / Envai 34 Accepted Refused Accepté Refusé	>	- 0 - m			Name of authorized person (print) Nom de l'agent autorisé (caractère d'imprimerie)	Tel. No. IN do tél. SIH YYU, 181	WATER CARRECCIOY (24 HVB)
	Registration No.	 art.A Itaire est la même qu e box below / Non, re			Province				8	22 Handling 33 Code / Code de manutention	90,000					100	WATOF CMERCENCY -CLISTONES
nent(s)/manifest(s) used mouvement/manifestes	nataire	mation same as in Pe sceptionnaire / destina	rise	5000			du lieu de destination	Day/J	e transferred, specif matières recyclable tinataire	Comments 3 Commentaires				spécifier)	n: I certify that the mect and complete. I stinataire: Jatteste rie C sont exacts et	BEE	ention spéciale INGER N As follows/ Ci-contre:
Reference Nos. of other movement document(s)/marifest(s) used / N ^e de référence des autres documents de mouvement/marifestes utilisés	Receiver / consignee Réceptionnaire / destinataire	Rosaive / consignee information same as in Parl A Les renseignements du réceptionnaire / destinataire est la même qu'à la Partie A Yes / Oui	Company name / Nom de l'entreprise	Mailing address / Adresse postale	F 50	E-mail / Courrier électronique	Receiving sile address / Adresse du lieu de destination	Date received / Date de réception née Month / Mois	les de le	ived Units 31 Lar / ou kg	50 Tr	s .		lf handling code "Other" (specify) Si code de manutention « autre » (spécifier)	Receiver I consignee certification: I certify that the information contained in Eart C is correct and complete. Attraction du réceptionnaire I destinataire : L'attracte que tous les nenseignements à le partie C sorg exacte et que tous les nenseignements à le partie C sorg exacte et	Non	Special hapdling / Manutention spéciale Attached / Ci-joint: N Attac
23 Reference Nos. c N° de référence d	Récep Récep		12	3	City/Ville	25 E-mail / Cou	100	Par / Année	If waste or rec company nam transférés, pré	10 Quantity received Quantité reçue 5.	46 34			19 If handling co	Receiver I or information co Attestation di que tous les n	The second second	
550	1	Postal code / Code postal	150 635 68 33	Prov.			Carrier Certification: I certify that I have received waste or recyclable material from the generalor I consignor for delivery to the receiver I consignee as set out in Pat A and trait the information contained in Part 8 is complete and correct Additional throughorters. Jathost envir inguished set of the training the production of supplication or the configuration of the control of the configuration of	Tel. No. / Nº de tél.		ontenant 9 10 Codes Phys. state Int ext. État phys.					Customs code(s) Code(s) de douanes	40E Profesty classified AND parkater	tation of
	4	Separate Cylvine Province Persistence Color Province Color Provinc	450 6	natriculation		internalional use solly	Carrier Certification: I cardiy that I have received waste or recyclable material from the generator I consignor for delivery to the receiver I consignee as set out in Part A and that the information contained in Part B is complete at Attestation for that ansporteur: I state the architecture to be defended our matières recyclables du protecteur a complete and A for the procession of the contribution and the current A provide A of the feet research residuellers is received.	Tel. No. / N° de tél		Units 8 Packaging/Contenant Lor/ou Kg No./N° Codes Unities Intext.		- 11			Dor R.code Code America VIII de Bale Hoode Yough Exportation Import Code Code Code Code Code Code Code Code	properly classified AND parkated	TAANS FOOTATION
zial ID No.	20002	Proving Proving		Registration No. / N° d'immatriculation		Port of exit Point de sortie	e or recyclable mater and that the informati échets ou matières re is frament à la partie.		Signature:	Shipped Lor/ou				National code in country of / Code du pays	Import Importation	455.F150	10万年
Registration No. / Provincial ID No. N° d'immatriculation - d'id. provincial	NUC	City/Ville		Registr		i use only	I have received wast as set out in Part A a este avoir reçu les de	s d'imprimerie) :	Day / Jour	risk gr. 7 allage/ Quantity shipped Quantité expédiée				Natio country of	Y code Export Code Y Exportation	pealy of	מפסויא
orteur		AVISTA		hicule r No. 1 waqon	ar No. 2 wagon	International use only	cation: certify that receiver consignee r transporteur: J'att	S sont exacts et complets. Name of authorized person (print): Nom de l'agent autorité (caractères d'imprimerie) :	Month / Mois	6 Packing / risk gr. 7 lo. Gr. d'emballage/				16	H code	40.8 PM	for From part According 10 THE
1 Carrier Transp	Company nam	Mailing address / Adresse pc 6565 HEE Final Courier efectorique	Service March	Vehicle / Véhicule Trailer - Rail car No. 1 1º remorque - wagon		de la colonia	THE RESIDENCE	and an analysis	Year / Année	Class / Classe ⁵ Sub. class(es) Classe(es) N°NU				15 Basel Annex VIII or	OECD Code Annexe VIII de Bâle ou Code OCDE	S NAMES	n From
ncial ID No. id. provincial	00063	Postal code / Code postal	46, 947 DA		Postal code / Code postal X O.C. O.A.O.	Registration No. / Provincial ID No.	6159 stal code / Code pos	Tel. No. / N	Postal code / Code postal	4 Class Sub. Class				13 PB	Code C	people stipping name 408	330
Registration No. / Provincial ID No. No. d'immatriculation - d'id. provincial	NUG 100063	Post Post	Clei. No. /N		بد	Registration No. / Provincial ID No. No. 1 Provincial ID No. No. 4" of martire ulation - d'in provin	16.20 91	549.90 514.90	Posts		TACHER				Dor Roode Code Éou R	to per	The proper condition
N.C.	1	16.5 L/L Provinc 400, 70, Ro	Harmonia &	ESITE	Proving S	2	I MENTA!	5300, Bu	Province	Shipping name	15x AT			12	O O	23	o de la
. 1	5	AGNICO~EMOIE~MINE3 LTU Maing address / Adresse postal City/Nie Province Postal code / Oode postal 145 K ju/ら ST E、SO11存 400, TO Roalib , Oods MS 3ツア		oping site address / Adresse du lieu de l'expédition MFANON JRANK IN JESIE	4KF		CIKOTAMIW ENVICONMENTI III 203 6159 Aging address/Adress/Adresse postale City/Ville	4935 CHARAISTON AND SUBSION, BROSSARG QC 116.304 Email Courier electronique 5145 440 3332	ANCOUR ANCOUR Pro		SEE ANNEX ATTACHED			t.	Notice No. Notice No. Notice No. Notice No. Notice Ine No. No de Igne de Shipment Is notification is notification (0.)	DESCRIBED ABOVE BY THE property SHIPPING NAME HOUSE DAY THE PROPERTY SHIPPING NAME OF THE PROPERTY WAS KEEN TO SHIPPING NAME OF THE PROPERTY WAS KEEN TO SHIPPING NAME OF THE PROPERTY OF THE	Respects
Generator / consignor	vom de l'entreprise	CO-EA Adresse postale	alectronique	Shipping site address / Adresse du lieu de l'expédition MEADOLURANT MEADOLURAN	RAKER LAKE	Intended Receiver / consignee	799 IW	HARAUN Selectronique	PART OF BECANOUN BUTTON TO CONTRACT OF THE CANOUN CONTRACT OF THE CANOON CONTRACT OF THE CA	Prov. code Code prov.					ification	00 V	IN All RESPOND
Genera	Company name / h	Mailing address //	E-mail / Coumer 6	Shipping site addi	Cify/Ville	Intended Receiver / consigned	O.K.O.	E-mail / Courrier	Receiving site and the site and	Prov.	0		(v)		Notice No.	® DESCAL ACO	E INTAL

IMDG DECLARATION

96NICO-1	EAGIE-MINES LTO - MEADOWBANKSITE	Reference number(s) MANIFEST	HL6	1042-1	3			
BAKER LA	KE NUNAVUT, CANADA IXOCOAO	Page of Pages						
	819-759 - 3563	rage of rages						
Consignee		Carrier NUNAVUT SEAUFT AND SUPPLY INC.						
QIKIQI	9Aluk ENUMONIMENTAL INC.	6565 HEACOT ALVI	1	Chill In	01			
333 BOU	1. AlpHouse-Desitaies telisi4940 3032	6565 HEBERT BLVL 5TE-CATHERING, DC, CAN TEL: 1-450-635-08	904 J	5013	5			
	VEHICLE PACKING CERTIFICATE	Name/status, company/organization of sign	33		135			
JON FAINER/	DECLARATION	YVON BEASPOIN PROJECT	MANAGE	R/Q,	E			
	the packing of the goods into the container/vehicle has been	Place and date			10 2n/a			
	ordance with the applicable provisions.	Ms ADOWLAK SITS, BAKKEL Signature on behalf of packer	ME, NO	MAY	or Black			
Container/Vehic	ETED FOR SHIPMENTS IN CONTAINERS OR VEHICLES CLE #: SEE AWWEX	1 - A						
Vessel No. and		(Reserved for text, instructions or other ma	ntter)					
	BAKERLAKE		,					
Port of discharge								
No. & Kind of Packages	DESCRIPTION OF GO (UN Number, PSN, Hazard Class, Packing Group,			QUANTITY	kaussum			
Fackages		t lash t ont, wante t oldani,	Gross mass (kg)	Net mass (kg)	Cube (m3)			
	SEE ANNEX ATTACHED		N#		All House On			
	e i kindê zênî î ⁿ r			34.4	227.70.256			
	NO VA							
			. Harris e e e		armi			
			-	ja servija	il to il			
	t _e							
				1 - 150	367 - 18			
			9 9	artige Elect				
	: 2*							
	-			yo mgja	5.7557 (4)			
	$(aab - ab)^{-1/2} = aab^{-1/2} = aab$							
	Testing .				e national			
	er on a the equipment of the			- 44	an contact			
	, and a second of the second o							
					digin was			
			3	ec ay	of the sales			
					dan ep			

Shir	per:	· · · · · · · · · · · · · · · · · · ·	Agnico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID n°.: NUG	100063				
	nsport	ter :	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002	100003				
	signo		Qikiqtaaluk Environmental - Port of Becancour - Prov ID nº.: 1162926159					
		Гуре :	FT marine container Reference : manifest HL61042-8					
			Total Title	QUANTITY				
line	No.	& Kind of packages	DESCRIPTION OF GOODS	Net Qty (L)	G. M.(kg)			
	taine	r nº.	078224-1		estimated			
a.	3	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL AND DIESEL MIX	3000	2400			
b.	5	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	5000	4000			
b.	2	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1530	450			
Con	taine	r nº.	200384-9					
a.	9	Tote 1000 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	1845	540			
Con	taine	r nº.	206032-0					
a.	8	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1640	760			
b.	8	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6120	1800			
Con	taine	r nº.	210606-8					
a.	14	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	2870	1330			
b.	6	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	4590	1350			
Con	taine	r nº.	211172-1	l				
a.	14	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	2870	1750			
b.	4	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	3060	1400			
Con	taine	r nº.	212328-7					
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250			
Con	taine	r n°.	223446-0					
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250			
Con	taine	r nº.	223852-7					
a.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE. ANTIFREEZE	410	430			
b.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	205	95			
c.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	300			
d.	8	Tote 1000 L	Not Regulated under T.D.G.A USED ANTIFREEZE (GLYCOL)	8000	8000			
Con	taine	r nº.	234705-6					
a.	8	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	4000	3840			
olac	ards r	equired : NONE		•				
			urs) call : CANUTEC 1-613-996-6666					
have	danger	are that the contents op ous goods safety marks tation of Dangerous Go	f this consignment are fully and accurately described above by the proper shipping name, are properly affixed or displayed on them, and are in all respects in proper condition for transpor ods Regulations	properly classified ar t according to the IM	d packaged, DG Code an			
	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk En	vironmental				
ort c	of Loading	: A.E.M. Baker Lake, Nur	ravut Place & Date : Agnico Eagle Mines - Meadowbank, NU. May 28, 2019<					

ihip	per :		Agnico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID no.: NUG1000	63					
ran	sport	er:	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002	***	· · · · · · · · · ·				
Con	signo	•	Qikiqtaaluk Environmental - Port of Becancour - Prov iD n°.: 1162926159						
ize	and 1	ype :	20 FT marine container Reference : manifest HL61042-8	***					
	N.	6 Wind of weeksees	DESCRIPTION OF GOODS		NTITY				
line	NO.	& Kind of packages	DESCRIPTION OF GOODS	Net Qty (L)	Gross mass(kg) estimated				
Con	taineı	n°.	238125-0		2411111111111				
а.	8	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6120	1800				
Con	taine	n°.	243611-3	<u> </u>					
a.	38	Drum 205 L	Not Regulated under T.D.G.A USED ASHES	7790	4750				
Con	taine	· n°.	248175-9	 					
a.	27	Drum 205 L	Not Regulated under T.D.G.A HYDROCARBON CONTAMINATED SOIL	5535	8775				
Con	taine	n°.	300593-0	1					
a.	8	Drum 205 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	1640	160				
b.	6	Quatrex 765 L	Not Regulated under T.D.G.A HYDROCARBON CONTAMINATED SOIL	4590	7200				
Container n°. 306220-0									
a.	6	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	1230	1350				
b.	24	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	4920	3000				
c.	9	· Drum 65 L	Not Regulated under T.D.G.A WASTE, GREASE	585	315				
d.	2	Salvage 255 L	Not Regulated under T.D.G.A WASTE, GREASE	510	510				
Con	taine	r n°.	308235-0						
a.	4	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL AND DIESEL MIX	4000	3200				
b.	6	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	6000	4800				
Con	taine	r n°.	308241-8	·4	· · · · · · · · · · · · · · · · · · ·				
а.	37	Drum 205 L	Not Regulated under T.D.G.A WASTE, ASHES	7585	5735				
Con	taine	r nº.	311460-0						
a.	23	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	4715	2875				
b.	1	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	765	225				
c.	2	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	1530	700				
Con	taine	r nº.	312008-5						
а.	6	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	6000	4800				
b.	3	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE AND WATER	3000	2700				
c.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	300				
plac	ards r	equired : NONE							
in c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666						
have	danger		f this consignment are fully and accurately described above by the proper shipping name, are prope s properly affixed or displayed on them, and are in all respects in proper condition for transport acco gods Regulations						
	Name :	<u> · · · · · · · · · · · · · · · · · ·</u>	Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environm	ental					

hip	per :		Agnico Eagle Mines itd - Baker Lake, Nunavut - Prov ID nº.: NUG	100063					
ran	sport	er:	Nunavut Sealink And Supply Inc Prov ID no.: NUG200002						
Cons	signoi	1	Qikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 1162926159						
Size	and T	ype:	0 FT marine container Reference : manifest HL61042-8						
	No	& Kind of packages	DESCRIPTION OF COORS	QUANTITY					
line	NO.	ac Killu OI packages	DESCRIPTION OF GOODS	Net Qty (L)	Gross mass(kg) estimated				
on	taine	n°.	313449-2						
a.	7	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	3500_	3360				
b.	2	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	2000	600				
`on	taine	r nº.	370306-9	·					
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
on'	taine	r nº.	377896-5						
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Con	talne	r n°.	382813-2						
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
on	taine	r nº.	437426-2						
a.	11	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	8415	2475				
Con	taine	r nº.	469080-4						
a.	10	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	5000	4800				
Con	taine	r nº.	ACSU 100141-2						
a.	1	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL AND DIESEL MIX	1000	800				
b.	9	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	9000	7200				
Con	taine	r nº.	CBHU 315278-1						
a.	30	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	6150	3750				
c.	1	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	765	350				
Con	taine	r n°.	CBHU 367692-1						
a.	38	Drum 205 L	Not Regulated under T.D.G.A WASTE, ASHES	7790	5890				
Con	taine	r n°.	CBHU 368464-0						
a.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	820	380				
b.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	205	125				
c.	8	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6120	1800				
d.	1	BOX 1000 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1000	325				
plac	ards r	equired : NONE							
			urs) call : CANUTEC 1-613-996-6666						
have	danger		f this consignment are fully and accurately described above by the proper shipping name, an properly affixed or displayed on them, and are in all respects in proper condition for transpo pods Regulations						
	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qlkiqtaaluk E	nvironmental	· · · · · · · · · · · · · · · · · ·				
	of Loadin	g : A.E.M. Baker Lake, Nui	navut Piace & Date : Agnico Eagle Mines - Meadowbank, NU. May 28, 2019<						

inip	hipper:		ignico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID nº.: NUG100063							
rar	sport	er:	Nunavut Sealink And Supply Inc Prov ID no.: NUG200002	 						
on	signo	ľ	ikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 1162926159							
ize	and 1	Гуре :	20 FT marine container Reference : manifest HL61042-8							
	No.	& Kind of packages	DESCRIPTION OF GOODS	QUANTITY						
line				Net Qty (L)	Gross mass(kg) estimated					
Con	taine		CBHU 378919-4	· · · · · · · · · · · · · · · · · · ·						
a.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, PUNCTURED AEROSOL CANS	205	70					
b.	8		Not Regulated under T.D.G.A WASTE, OILY SOLID	6120	1800					
Con	taine		CCLU 207497-7	, - ,						
а.	6	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1230	600					
b.	8		Not Regulated under T.D.G.A WASTE, OILY SOLID	6120	1800					
Con	taine	r n°.	CCLU 223694-9							
a.	7	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	7000	5600					
b.	3	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OILY WATER	3000	3000					
Con	taine	r n°.	CCLU 300445-0							
a	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250					
Con	taine	r n°.	CCLU 319055-0							
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250					
Con	taine	r nº.	CCLU 321752-1							
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, PUNCTURED AEROSOL CANS	7650	2250					
Con	taine	r n°.	CLHU 202659-9							
a.	1	20 FT Container	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	22000	1680					
			(1680empty oil pails)							
Cor	taine	r n°.	CLHU 206986-2							
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250					
Cor	taine	er n°.	CRXU 204969-3							
a.	38	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	7790	4750					
Cor	italne	er n°.	EMCU 259026-4							
a.	37	Drum 205 L	Not Regulated under T.D.G.A WASTE, ashes	7585	4625					
plac	ards ı	equired : NONE		_						
In c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666		•					
			f this consignment are fully and accurately described above by the proper shipping name, are prope							
		rous goods safety marks rtation of Dangerous Go	properly affixed or displayed on them, and are in all respects in proper condition for transport acco pods Regulations	rding to the IM	DG Code and					
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environm	ental						
		g : A.E.M. Baker Lake, Nu	Place & Date: Agnico Eagle Mines - Meadowbank, NU. May 28, 2019							

Ship	per :		Agnico Eagle Mines ltd - Baker Lake, Nunavut - Prov ID no.: NUG	100063					
irar	rspor	ter:	Nunavut Sealink And Supply Inc Prov ID no. : NUG200002						
Con	signo	r	Qikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 1162926159						
Size	ize and Type :		FT marine container Reference : manifest HL61042-8						
	Na.	& Kind of packages	DESCRIPTION OF GOODS	QUA					
line	· · · · · ·		DESERTION OF GOODS	Net Qty (L)	Gross mass(kg estimated				
Con	taine	r nº.	EMCU 325849-1						
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Con	taine	r n°.	EMCU 342943-9						
a.	9	Tote 1000 L	Not Regulated under T.D.G.AWASTE, OIL	9000	7200				
Con	taine	r nº.	FBLU 305411-1	· · · ·					
a.	1	20 FT Container	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	22000	2260				
		-	(2260 empty oil pails)						
Con	taine	r nº.	FNAU 245517-8						
a.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	1000				
b.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	9000	8100				
Con	taine	r nº.	FPMU 250224-9	I	-				
a.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200				
Con	taine	r n°.	FSCU 310047-1						
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Con	taine	r nº.	FSCU 369909-8						
a.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	410	190				
b.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	9000	8100				
Cor	taine	r nº.	FSCU 384140-6		<u> </u>				
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	7650	2250				
Cor	taine	r nº.	FSCU 386250-1						
a.	10	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	10000	9000				
Cor	taine	r n°.	FSCU 730493-5						
а.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
-		equired : NONE		1 /050					
In c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666						
her have	eby dec danger	lare that the contents o	f this consignment are fully and accurately described above by the proper shipping name, are properly affixed or displayed on them, and are in all respects in proper condition for transpor	properly classified an t according to the IM	d packaged, DG Code and				
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk En	vironmental					
Port o	of Loadin	g : A.E.M. Baker Lake, Nu	navut Place & Date : Agnico Eagle Mines - Meadowbank, NU. May 28, 2019						

ship	per:		Agnico Eagle Mines itd - Baker Lake, Nunavut - Prov ID nº.: NUG	100063				
fran	sport		Nunavut Sealink And Supply Inc Prov ID no.: NUG200002		·			
Con	signo		likiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 1162926159					
Size	and 1	Type :	0 FT marine container Reference : manifest HL61042-8					
				QUA	NTITY			
line	No.	& Kind of packages	DESCRIPTION OF GOODS	Net Qty (L)	Gross mass(kg)			
Con	taine	r n°.	GATU 003074-5		eatimoteo			
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250			
Con	taine	r nº.	GATU 020573-5	· · · · · • • · · · · · · · · · · · · ·				
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250			
Con	taine		GATU 027104-3		·			
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	7650	2250			
Con	taine	r nº.	GATU 028195-1		<u> </u>			
a.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200			
Con	taine	r nº.	GATU 083883-6	· · · · · · · · · · · · · · · · · · ·				
a.	7	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	1435	1540			
b.	8	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	1640	960			
ç.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	820	400			
d.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	205	140			
b.	2	Quatrex 765 L	Not Regulated under T.D.G.A MIXED WASTE LABPACK	1530	500			
e.	2	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	1530	450			
f.	1	Tote 1000 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	80	900			
Con	taine	r nº.	GATU 099504-9	<u>.</u>	<u> </u>			
a.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200			
b.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE	1000	1000			
Con	taine	r n°.	GESU 263458-6	· · · · · · · · · · · · · · · · · · ·	· 			
a.	10	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	2050	2200			
b.	27	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	5535	3240			
c.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	205	150			
d.	1	Drum 65 L	Not Regulated under T.D.G.A WASTE, GREASE	65	40			
Con	taine	r nº.	GLDU 220537-7	·····				
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250			
plac	ards r	equired : NONE						
In c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666					
have	danger	are that the contents o ous goods safety marks tation of Dangerous Go	f this consignment are fully and accurately described above by the proper shipping name, are properly affixed or displayed on them, and are in all respects in proper condition for transpo ands Regulations	properly classified a rt according to the IN	nd packaged, ADG Code and			
	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Ei	nvironmental				
Port o	of Loadin	g : A.E.M. Baker Lake, Nur	navut Place & Date : Agnico Eagle Mines - Meadowbank, NU. May 28, 2019					

hip	per :		Agnico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID n°.: NUG1	.00063		
ran	sport	er:	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002			
Con	ignor		Qikiqtaaluk Environmental - Port of Becancour - Prov ID no.: 11629	26159		
ize	and T	ype :	20 FT marine container Reference : manifest HL61042-8			
	No	& Kind of packages	DESCRIPTION OF GOODS	QUA	NTITY	
line	140.	a Killa of packages	DESERIF HOR OF SOODS	Net Qty (L)	Gross mass(kg estimated	
Con	taine	n°.	GLDU 221015-7			
a.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	1000	
b.	5	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	5000	4500	
c.	4	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE	4000	4000	
on	taine	n°.	GMTU 101677-3			
a.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	1000	
b.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	9000	8100	
on	taine	r n°.	GSTU 569933-3			
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250	
Con	taine	r nº.	GVCU 202187-0			
а.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250	
Con	taine	r nº.	HBMU 200062			
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250	
Con	taine	r nº.	HBMU 200359			
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250	
Cor	taine	r n°.	HBMU 200390			
a.	11	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	8415	2475	
Cor	taine	r n°.	HDMU 214119-1	·		
a.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	9000	8100	
Cor	taine	r n°.	HLTU 003016-4			
a.	9	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6885	2025	
b.	1	Quatrex 765 L	Not Regulated under T.D.G.A MIXED WASTE LABPACK	765	325	
Cor	taine	r nº.	HLTU 003171-0		·····	
a.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	1000	
b.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200	
c.	1	Tote 1000 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	1000	100	
Cor	taine	r nº.	HLXU 205853-3			
a.	10	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	10000	9000	
In c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666			
have	danger		f this consignment are fully and accurately described above by the proper shipping name, are s properly affixed or displayed on them, and are in all respects in proper condition for transpor pods Regulations			
Ship'	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Em	vironmental		
Port	of Loadin	g : A.E.M. Baker Lake, Nu	navut Place & Date : Agnico Eagle Mines - Meadowbank, NU. May 24, 2018			

Ship	per :		Agnico Eagle Mines ltd - Baker Lake, Nunavut - Prov ID no.: NUG100)063					
Fran	sport	er:	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002 Qikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 1162926159 20 FT marine container Reference : manifest HL61042-8						
Cons	signor	•							
Size	and T	ype :							
				QUANTITY					
line l	No.	& Kind of packages	DESCRIPTION OF GOODS	Net Qty (L)	Gross mass(kg) estimated				
	tainer	· n°.	HLXU 306547-6		estitioten				
a.	10		Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Container n°.			HTLU 002372-0	<u> </u>					
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Con	talneı		INBU 314677-0						
a.	1	Container 20 FT	Not Regulated under T.D.G.A ELECTRONIC WASTE - E-WASTE	10000	1200				
Con	talne		INBU 374105-3						
a.	7	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	7000	6300				
b.	3	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	3000	3000				
Con	taine	r nº.	IPXU 336173-2						
a.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	820	420				
b.	7	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	5355	1575				
c.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	1000	900				
d.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE AND WATER	1000	1000				
Con	taine	r n°.	ITLU 667409-4						
a.	9	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6885	2025				
Con	taine		ITLU 698635-9	<u></u>					
а.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Con	taine	r nº.	KNLU 333358-3	-	<u> </u>				
а.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Con	taine	r n°.	MIGU 239061-3						
a.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE AND WATER	1000	1000				
b.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	9000	8100				
Cor	taine	r nº.	MLCU 272618-8						
a.	2	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	2000	2000				
b.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200				
		equired : NONE							
i here have	eby deci danger	are that the contents o	ours) call : CANUTEC 1-613-996-6666 If this consignment are fully and accurately described above by the proper shipping name, are pross properly affixed or displayed on them, and are in all respects in proper condition for transport accords Regulations						
Ship's	Nama :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Enviro	nmental					
	مالم ما گ	g : A.E.M. Baker Lake, Nu	navut Piace & Date : Agnico Eagle Mines - Meadowbank, NU. May 24, 2018						

hip	per :		Agnico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID no.: NUG10000	53					
ran	sport	er:	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002						
on	signor	•	Qikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 11629261	59					
lze	and T	ype :	20 FT marine container Reference : manifest HL61042-8						
	No. & Kind of packages		· DESCRIPTION OF GOODS	QUAN					
ine	NO.	st Kind of packages	DESCRIPTION OF GOODS	Net Qty (L)	Gross mass(kg) estimated				
on	tainer	n°.	MLCU 277186-5						
a.	12	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	9180	2700				
b.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1000	400				
on	talne	n°.	MOAU 011669-0						
a.	3	Drum 205 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	615	60				
b.	12	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	2460	1260				
C.	6	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	4590	1350				
on	taine	r n°.	MOGU 250861-1	·					
a.	10	Tote 1000 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	10000	600				
on	taine	r nº.	MOGU 261681-1	· · · · · · · · · · · · · · · · · · ·					
a.	11	Drum 205 L	Not Regulated under T.D.G.A WASTE, SULPHUR AND WATER	2255	4400				
b.	5	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	1025	900				
c.	1	Drum 205 L	Not Regulated under T.D.G.AWASTE, OIL	205	180				
d.	11	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	2255	1155				
e.	6	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	1230	1080				
:on	taine	r nº.	MSCU 232075-6						
a.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	410	360				
b.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	205	180				
c.	3	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	615	315				
d.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY WATER	820	800				
e.	3	Drum 205 L	Not Regulated under T.D.G.A HYDROCARBON CONTAMINATED SOIL	615	660				
f.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	410	250				
g.	4	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	4000	4000				
h.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE AND WATER	1000	95				
Cor	ntaine	r nº.	MSCU 290012-1						
a.	1	Container 20 FT	Not Regulated under T.D.G.A ELECTRONIC WASTE - E-WASTE	10000	1200				
olac	ards r	equired : NONE							
in c	ase of	emergency (24 ho	ours) call : CANUTEC 1-613-996-6666	<u> </u>					
ave	danger		of this consignment are fully and accurately described above by the proper shipping name, are proper s properly affixed or displayed on them, and are in all respects in proper condition for transport accor cods Regulations						
	Name :	· · · · · · · · · · · · · · · · · · ·	Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environme	ental					
	of Loadin	g : A.E.M. Baker Lake, Nu	navut Place & Date : Agnico Eagle Mines - Meadowbank, NU. May 24, 2018		*				

prepared by : Yvon Beaudoin, Q.E.

hip	per :		Agnico Eagle Mines itd - Baker Lake, Nunavut - Prov ID n°.: NUG	100063					
ransporter :		er:	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002 Qikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 1162926159						
Con	Consignor								
ize	and 1	Type :	20 FT marine container Reference : manifest HL61042-8						
	No. & Kind of packages		DESCRIPTION OF GOODS		NTITY				
line		a title of passages	DESCRIPTION OF GOODS	Net Qty (L)	Gross mass(kg estimated				
Con	taine	r nº.	MOGU 260543-7						
a.	27	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	5535	3375				
b.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	820	420				
c.	1	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	765	525				
d.	1	Tote 1000 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	1000	95				
on	taine	r n°.	OOLU 353660-6						
а.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Con	taine	r n°.	POCU 058554-0						
a.	3	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	615	375				
b.	9	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6885	2025				
Con	taine	r n°.	TEXU 231592-1		<u> </u>				
a.	2	Drum 65 L	Not Regulated under T.D.G.A WASTE, GREASE	130	80				
b.	24	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	4920	4320				
c.	12	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	2460	2700				
Con	taine	r nº.	TEXU 234879-8						
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	7650	2250				
Cor	taine	r nº.	TEXU 392335-6						
a.	28	Drum 205 L	Not Regulated under T.D.G.AWASTE, OIL	5740	5040				
Cor	taine	r n°.	TGHU 239687-6						
a.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE	9000	9000				
plac	ards r	equired : NONE		<u></u>					
her	by dec	are that the contents o	urs) call: CANUTEC 1-613-996-6666 f this consignment are fully and accurately described above by the proper shipping name, are specify proper to displayed on them, and are in all respects in proper condition for transpor						
		tation of Dangerous Go							
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk En	vironmental					

hip	per :		Agnico Eagle Mines itd - Baker Lake, Nunavut - Prov ID n°.: NUG10006	3			
Transporter :			Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002		·—		
Consignor			Qikiqtaaluk Environmental - Port of Becancour - Prov ID no.: 1162926159				
	and T		20 FT marine container Reference : manifest HL61042-8				
				QUANTITY			
line	No. 8	& Kind of packages	DESCRIPTION OF GOODS	Net Qty (L)	iross mass(kg) estimated		
on	talner	n°.	TOLU 313527-5		COMMINED		
a.	7	Drum 205 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE AND WATER	1435	1260		
b.	1	Drum 205 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	205	20		
c.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	410	210		
d.	5	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1025	1000		
e.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	205	125		
f.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	205	185		
g.	2	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	2000	2000		
h.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	1000	900		
:on	tainer	n°.	TOLU 331444-0				
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	7650	1500		
Con	taineı	n°.	TOPU 218182-5				
a.	10	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	10000	9000		
Con	talne	nº.	TRDU 281654-9				
a.	4	Drum	Not Regulated under T.D.G.A WASTE, OILY SOLID	3060	900		
b.	9	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6885	2025		
Con	taine	n°.	TRLU 246886-8				
a.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	820	500		
b.	9	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6885	2025		
Con	taine	n°.	TRLU 296073-3				
a.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	9000	8100		
b.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ETHYLENE GLYCOL AND WATER	1000	900		
Con	taine	r n°.	TRLU 300245-2				
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	7650	1500		
Con	taine	r n⁰.	TRLU 318108-6				
a.	10	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	10000	9000		
plac	ards r	equired : NONE					
in c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666				
have	danger		f this consignment are fully and accurately described above by the proper shipping name, are properly s properly affixed or displayed on them, and are in all respects in proper condition for transport accora pods Regulations				
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environmer	tal			
Dort o	of Loading	: A.E.M. Baker Lake, Nu	navut Place & Date : Agrico Eagle Mines - Meadowbank, NU. May 24, 2018				

	per :		Agnico Eagle Mines itd - Baker Lake, Nunavut - Prov ID n°.: NUG100	1063			
			Nunavut Sealink And Supply Inc Prov ID no.: NUG200002				
			Qikiqtaaluk Environmental - Port of Becancour - Prov ID no.: 1162926159				
ze	and T	ype:	20 FT marine container Reference : manifest HL61042-8				
	No.	& Kind of packages		QUA	YTITY		
ine	no.	or unite of harvages	DESCRIPTION OF GOODS	Net Qty (L)	Gross mass(kg) estimated_		
on	ainer	n°.	TTNU 261609-8				
a.	9	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	9000	8100		
b.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, PART WASHER SOLUTION	1000	1000		
on	ainer	n°.	TTNU 263436-3				
a.	4	Drum 65 L	Not Regulated under T.D.G.A WASTE, GREASE	260	160		
b.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	205	180		
c.	12	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	2460	2640		
d.	3	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY CONTAMINATED SOIL	615	600		
e.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	410	250		
f.	20	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	4100	3700		
Container n°. TTNU 276825-4							
a.	1	Container 20 FT	Not Regulated under T.D.G.A ELECTRONIC WASTE - E-WASTE	10000	1200		
Con	taine	r nº.	TTNU 360345-4				
a.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200		
Con	taine	r n°.	UESU 214387-9				
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	7650	1500		
Con	talne	r n°.	YMLU 270239-7				
a.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200		
b.	2	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	2000	1800		
Con	taine	r n°.	ZIMU 247031-6				
a.	10	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	7650	1500		
Con	taine	r n°.	ZIMU 255893-7				
a.	8	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	1640	1440		
b.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	205	180		
c.	3	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	615	360		
d.	6	Quatrex 765 L	Not Regulated under T.D.G.A OILY SOLID WASTE	4590	900		
plac	ards r	equired : NONE					
in ce	ise of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666				
have	danger		f this consignment are fully and accurately described above by the proper shipping name, are prop properly affixed or displayed on them, and are in all respects in proper condition for transport acc pods Regulations				
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environ	mental	·		
Port o	f Loading	; : A.E.M. Baker Lake, Nur	Place & Date: Agnico Eagle Mines - Meadowbank, NU. May 24, 2018				

Ship	per :	<u>-</u>	Agnico Eagle Mines ltd - Baker Lake, Nunavut - Prov ID n°. : NUG10006	·3			
Transporter :		er:	Nunavut Sealink And Supply Inc Prov ID no.: NUG200002				
Con	signo	r	Qikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 116292615	9			
Size	ze and Type: 20 FT marine container Reference: manifest HL61042-8						
	11-	C What of marks are	DESCRIPTION OF GOODS	QUANTITY			
line	No. & Kind of packages		UN Number, Shipping Name, Hazard Class (Sub), Packing Group, F.P. (deg. C), Marine Pollutant, Add technical name (s.p. 274 for primary and sub. classes and M.P.)	Net Qty (L)	Gross mass(kg) estimated		
Con	taine	r nº.	222344-5				
а.	89	Drum 205 L	UN 2031, RESIDU LAST CONTAINED NITRIC ACID, class 8, P.G. II,	18245	890		
b.			·				
plac	ards	required : class 8					
Con	taine	r n°.	223898-0				
a.	2	Tote 1000 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed c	2000	800		
b.	1	Quatrex 765 L	Not Regulated under T.D.G.A HYDROCARBON CONTAMINATED SOIL	765	1300		
c.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200		
d.							
plac	ards	required : class 3					
Con	taine	r n°.	227077-1				
а.	11	Quatrex 765 L	UN 2794, WASTE, BATTERIES, WET, FILLED WITH ACID, class 8	4400	4400		
plac	ards	required : class	8				
Con	taine	r nº.	261907-4				
a.	7	Drum 205 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed of	1435	1050		
b.	1	Tote 1000 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed or	1000	800		
c.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTER	410	250		
d.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	205	900		
e.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	410	450		
f.	1	Quatrex 765 L	Not Regulated under T.D.G.A SEWAGE SOLID WASTE	765	900		
g.	2	Tote 1000 L	Not Regulated under T.D.G.A WASTE, Oil	2000	1800		
h.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE	1000	900		
i.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	900		
pla	cards	required : class :	3				
in c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666				
have	danger Transpo	rous goods safety mark:	f this consignment are fully and accurately described above by the proper shipping name, are properi s properly affixed or displayed on them, and are in all respects in proper condition for transport accor ds Regulations. It is declared that the packing of the goods into the unit has been carried out in accor	fding to the	IMDG Code a		
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environme	ntal	<u> </u>		
	Port of Loading: A.E.M. Baker Lake, Nunavut Place & Date: Agnico Eagle Mines - Meadowbank, N.U. May 28, 2019						

hip	per:		Agnico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID no.: NUG10006	j3			
Transporter :		er:	Nunavut Sealink And Supply Inc Prov ID no.: NUG200002				
Con	signo	r	Qikiqtaaluk Environmental - Port of Becancour - Prov ID no.: 116292615	;9			
ize	and 7	Гуре :	20 FT marine container Reference : manifest HL61042-8				
line	No.	& Kind of packages	DESCRIPTION OF GOODS UN Number, Shipping Name, Hazard Class (Sub), Packing Group, F.P. (deg. C), Marine Pollutant, Add technical name (s.p. 274 for primary and sub. classes and M.P.)	QUA Net Qty (L)	NTITY Gross mass(kg) estimated		
	taine	r nº.	CBHU 374550-8		estimated		
a.	1	Drum 205 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed co	205	150		
b.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	205	180		
c.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	205	225		
d.	5	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1025	625		
d.	5	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	3825	1125		
e.	2	Quatrex 765 L	Not Regulated under T.D.G.A HYDROCARBON CONTAMINATED SOIL	1530	2600		
f.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	1000	900		
g.							
h.							
olac	ards	required : class	3		-		
Con	taine	r nº.	CCLU 207791-3				
a.	2	Tote 1000 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed c	2000	1700		
b.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY WATER	410	400		
c.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	820	900		
d.	8	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1640	1000		
e.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	410	230		
f.	7	Drum 205 L	Not Regulated under T.D.G.A WASTE, WATER TREATMENT SLUDGE	5355	9100		
g.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE	765	225		
h.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	1000		
i.			n.b. no pallets, drums directly on the floor				
j.							
pla	cards	required : class	3				
In c	ase of	emergency (24 h	ours) call : CANUTEC 1-613-996-6666				
her have	eby dec	lare that the contents or	of this consignment are fully and accurately described above by the proper shipping name, are proper is properly affixed or displayed on them, and are in all respects in proper condition for transport accords ds Regulations. It is declared that the packing of the goods into the unit has been carried out in accor	rfding to the	IMDG Code		
5.4.2	.1						
Ship's Name : Name, Title, Firm of signatory : Yvon Beaudoin, Project Manager, Qikiqtaaluk Environmental							

Shipper:			Agnico Eagle Mines itd - Baker Lake, Nunavut - Prov ID n°.: NUG100063				
Fransporter :		er:	Nunavut Sealink And Supply Inc Prov ID nº.: NUG200002				
Cons	Consignor		Qikiqtaaluk Environmental - Port of Becancour - Prov ID no.: 116292615	i 9			
Size	and 1	уре :	20 FT marine container Reference : manifest HL61042-8				
Ilne	No.	& Kind of packages	DESCRIPTION OF GOODS UN Number, Shipping Name, Hazard Class (Sub), Packing Group, F.P. (deg. C), Marine Pollutant, Add technical name (s.p. 274 for primary and sub. classes and M.P.)	QUA Net Qty (L)	NTITY Gross mass(kg		
	taine	r nº.	CCLU 224715-7		estimated		
a.	1	Tote 1000 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed co	1000	900		
b.	8	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	8000	7200		
c.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1000	1000		
d.							
olac	ards	required : class 3			<u> </u>		
Con	taine	r nº.	CCLU 232161-3		-		
a.	1	Quatrex 765 L	UN 1978, RESIDU LAST CONTAINED PROPANE class 2.1	765	180		
			(empty small propane tanks)				
b.	9	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	6885	2025		
c.							
plac	ards	required : class 2	.1				
Con	talne	r nº.	CLHU 207087-9				
а.	10	Quatrex 765 L	UN 3077 ENVIRONMENTALLY HAZARDOUS SUBSTANCES, SOLID, N.O.S.	7650	1500		
			(LEAD) class 9 P.G. III Marine Poliutant - (lab waste sample)		ļ		
b.							
			and MARINE POLLUTANT				
Con	taine	r n°.	CLHU 207828-9				
а.	1	Quatrex 765 L	UN 2794, WASTE, BATTERIES, WET, FILLED WITH ACID, class 8	400	400		
b.	12	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	2460	1500		
c.	6	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	4590	1350		
d.				<u> </u>	<u> </u>		
e.				<u> </u>	<u> </u>		
<u> </u>		required : class 8					
In co	ise of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666				
have	danger ranspor	ous goods safety marks	f this consignment are fully and accurately described above by the proper shipping name, are properi properly affixed or displayed on them, and are in all respects in proper condition for transport accor is Regulations. It is declared that the packing of the goods into the unit has been carried out in accor	fding to the	IMDG Code a		
			Name Tible Flow of Jacobs, Many Resided Bullet Many Office Inc.	-**!			
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environmer	ntai			

ihip	per:		Agnico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID nº.: NUG10006	3			
Fransporter :		er:	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002				
Consignor			Qikiqtaaluk Environmental - Port of Becancour - Prov ID n°.: 1162926159				
ize	and T	ype :	20 FT marine container Reference : manifest HL61042-8				
	No.	& Kind of packages	DESCRIPTION OF GOODS UN Number, Shipping Name, Hazard Class (Sub), Packing Group, F.P. (deg. C), Marine Pollutant,	QUANTITY			
line	1101	ex time of pastages	Add technical name (s.p. 274 for primary and sub. classes and M.P.)		Gross mass(kg) estimated		
on	talner	· n°.	CLHU 242308-7				
a.	3	Drum 205 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed of	615	450		
b.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, ISOCYANATE SOLID	205	155		
c.	5	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1025	875		
d.	21	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	4305	3675		
e.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SLLUDGE AND DEBRIS	820	900		
f.	1	Drum 205 L	Not Regulated under T.D.G.A HYDROCARBON CONTAMINATED SOIL	205	225		
g.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, ANTIFREEZE	205	175		
h.							
i.							
plac	ards (required : class 3	}				
Con	taine	r n°.	CPIU 052431-4				
a.	10	Quatrex 765 L	UN 3077 ENVIRONMENTALLY HAZARDOUS SUBSTANCES, SOLID, N.O.S.	7650	1500		
			(LEAD) class 9 P.G. III Marine Pollutant - (lab waste sample)				
pla	ards	required : class !	and MARINE POLLUTANT				
Con	taine	r n°.	GSTU 513480-0				
a.	9	Drum 205 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed c	1845	1350		
b.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	820	620		
c.	6	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY WATER	1230	1050		
d.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	410	350		
e.	7	Drum 205 L	Not Regulated under T.D.G.A HYDROCARBON CONTAMINATED SOIL	1435	1575		
f.	5	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	1025	525		
g.							
h.							
i.							
pla	cards	required : class	3				
			ours) call : CANUTEC 1-613-996-6666				
have	danger ranspoi	ous goods safety mark	of this consignment are fully and accurately described above by the proper shipping name, are properi s properly affixed or displayed on them, and are in all respects in proper condition for transport accor ds Regulations. It is declared that the packing of the goods into the unit has been carried out in accor	fding to the	IMDG Code d		
	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environme	ntal			

Ship	per :		Agnico Eagle Mines itd - Baker Lake, Nunavut - Prov ID n°. : NUG10006	3				
Fransporter :		ter:	Nunavut Sealink And Supply Inc Prov ID no.: NUG200002					
Con	signo	r	Qikiqtaaluk Environmental - Port of Becancour - Prov ID no.: 116292615	9				
Size	and '	Гуре :	20 FT marine container Reference : manifest HL61042-8					
line	No.	& Kind of packages	DESCRIPTION OF GOODS UN Number, Shipping Name, Hazard Class (Sub), Packing Group, F.P. (deg. C), Warine Pollutant, Add technical name (s.p. 274 for primary and sub. classes and M.P.)	QUANTITY Net Qty (L) Gross mass(kg				
	taine	r n°.	HBMU 200264		estimated			
a.	10	Quatrex 765 L	UN 2794 , WASTE, BATTERIES, WET, FILLED WITH ACID, class 8	4000	4000			
b.	2	LIFT BATTERY	UN 2794 , WASTE, BATTERIES, WET, FILLED WITH ACID, class 8	800	1600			
plac	ards	required : class &	<u> </u>					
		r nº.	SITU 297018-2					
a.	5	Drum 205 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed c	1025	750			
b.	2	Drum 205 L	UN 1203, WASTE, GASOLINE, class 3, P.G. III, Flash point - 38 oC closed d	410	300			
c.	2	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTER	410	250			
d.	5	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL	1025	4500			
e.	8	Drum 205 L	Not Regulated under T.D.G.A WASTE, KITCHEN GREASE	1640	1800			
f.	1	Drum 205 L	Not Regulated under T.D.G.A WASTE, GREASE	205	185			
g.	2	Drum 205 L	Not Regulated under T.D.G.A RESIDU LAST CONTAINED OIL	410	40			
h.	4	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY WATER	820	820			
i.								
j.								
plac	ards	required : class	3		· · · · · · · ·			
Con	taine	r n°.	TCKU 133350-0	•				
a.	4	Tote 1000 L	UN 1202, WASTE, DIESEL FUEL, class 3, P.G. III, Flash point > 40 °C closed co	4000	3600			
b.	2	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OILY WATER	2000	2000			
c.	4	Tote 1000 L	Not Regulated under T.D.G.A WASTE, OIL	4000	3600			
d.	1	Tote 1000 L	Not Regulated under T.D.G.A WASTE, DEICING FLUID AND WATER	1000	900			
e.								
f.								
plac	ards	required : class	3					
in c	ise of	emergency (24 ho	ours) call : CANUTEC 1-613-996-6666					
have	danger ranspoi	ous goods safety mark	of this consignment are fully and accurately described above by the proper shipping name, are properly is properly affixed or displayed on them, and are in all respects in proper condition for transport accords Regulations. It is declared that the packing of the goods into the unit has been carried out in accor	fding to the	IMDG Code a			
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environmer	ntal	<u> </u>			
	e	g: A.E.M. Baker Lake, Nu	navut Place & Date : Agnico Eagle Mines - Meadowbank, NU. May 28, 2019					

Agı	nico	Eagle Mines -	Meadowbank - Shipper's Declaration for Dangerous Go	ods				
Ship	per :		Agnico Eagle Mines Itd - Baker Lake, Nunavut - Prov ID n°. : NUG10000	e Mines Itd - Baker Lake, Nunavut - Prov ID n°. : NUG100063				
Transporter: Nunavut :		ter :	Nunavut Sealink And Supply Inc Prov ID n°.: NUG200002		•			
Con	signo	r	Qikiqtaaluk Environmental - Port of Becancour - Prov ID no.: 11629261	59				
Size	and '	Гуре:	20 FT marine container Reference : manifest HL61042-8					
	Rto	& Kind of packages	DESCRIPTION OF GOODS UN Number, Shipping Name, Hazard Class (Sub), Packing Group, F.P. (deg. C), Marine Pollutant,	QUANTITY				
line	NO.	& Killo of packages	Add technical name (s.p. 274 for primary and sub. classes and M.P.)	Net Qty (L)	Gross mass(kg) estimated			
Con	taine	r nº.	EXU 224289-3					
a.	12	Quatrex 765 L	UN 2794, WASTE, BATTERIES, WET, FILLED WITH ACID, class 8	4800	4800			
b.]			
c.								
d.								
plac	ards	required : class 8						
Con	taine	r nº.	TEXU 246912-5					
a.	1	Drum 205 L	UN 1950, WASTE, AEROSOL, FLAMMABLE class 2.1	205	70			
b.	3	Drum 205 L	Not Regulated under T.D.G.A WASTE, OIL FILTERS	615	375			
c.	11	Drum 205 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	2255	1375			
d.	6	Quatrex 765 L	Not Regulated under T.D.G.A WASTE, OILY SOLID	4590	1350			
e.								
f.								
g.								
pla	ards	required : class 2	2.1					
			:					
		• •						
In c	ase of	emergency (24 ho	urs) call : CANUTEC 1-613-996-6666					
have	dangei ranspoi	ous goods safety mark:	f this consignment are fully and accurately described above by the proper shipping name, are proper s properly affixed or displayed on them, and are in all respects in proper condition for transport accor ds Regulations. It is declared that the packing of the goods into the unit has been carried out in accor	rfding to the	IMDG Code and			
Ship's	Name :		Name, Title, Firm of signatory: Yvon Beaudoin, Project Manager, Qikiqtaaluk Environme	ntal				
Port	of Loadin	g : A.E.M. Baker Lake, Nu						
Port 6	Port of Discharge : Port de Bécancour Signature:							